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Three brothers and sisters 

Sarah is 3 years older than Marc. But Marc is 10 cm taller than Sarah.  

He is 1.75 m tall. Sandra is the youngest of the three. She is 5 years  

younger than Marc but she is 1 cm taller than Sarah. Sarah is 18 years old.  

 

Marc is   Sarah  is   Sandra is 

___years old  ___years old  ___years old 

and ____ m tall. and ____ m tall.  and ____ m tall. 
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Three brothers and sisters 

Sarah is 3 years older than Marc. But Marc is 10 cm taller than Sarah.  

He is 1.75 m tall. Sandra is the youngest of the three. She is 5 years  

younger than Marc but she is 1 cm taller than Sarah. Sarah is 18 years old.  

 

Marc is   Sarah  is   Sandra is 

15 years old  18 years old   10 years old 

and 1.75 m tall.  and 1.65 m tall.  and 1.66 m tall. 

 


